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[ ]otel ggre 42 Az HYe AL 12X Q.

10.802-7.263 - 1.998 = |-1.998 =[ |

@ 3.528, 1.54 @ 3.529, 1.541 ® 3.538, 1.54
@3.539, 1.541 ® 3.539, 1.551

10.802 — 7.263 — 1.998
= 3.539 — 1.998 = 1.541
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4:50] WAS BHA 2.

5.918 — 2.156

5.918 — 2.156 = 3.762




12. Al 250 MAS SHAL.

11.892 - 3.777 — 3.812

[ 2
> = 4.303

11.892 — 3.777 — 3.812 = 8.115 — 3.812 = 4.303
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=3.77

3.66 — 2.981 + 3.091
= 0.679 + 3.091
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15. ZolH FA7AE 29km, BUNA BU7HAE 18k Uik, it
ol g el 2L AH WA 3 R Yebt
ol g g

712l 2 km A FEA L.

rl

FESHE A7) (294 1.8) + (2.9 + 1.8) = 9.4(km)
3 FE 1 94+94+94=282(km)




16. =7]E H|wst O ¢l >, =, <& dHA HE oA L.

8.02 -3.7=4.32
1.972 4- 3.35 = 5.322




17. % %9 2718 vlaste] O 9ol >, =, <& LA AFOA

0.49+0.8500.3 +0.96
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0.49 + 0.85 = 1.34, 0.3+ 0.96 = 1.26 °|2&
webA] 0.49 + 0.85 > 0.3 + 0.96




18. O ¢l >, =, <2 I HEoAQ,

4.8+475406.35+5.99
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4.8 +7.54 =12.34, 6.35 + 5.99 = 12.34 0|2 &
whaebA] 4.8 + 7.54 = 6.35 + 5.99




